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1~6 FERMERE - 5 5 5 RAEE True 3¢ False :
1.If AB=1 and BC=1,then A=C.

2.If Ais 3 by 4 and B is 4 by 5,then (4B)" is 5 by 3.

3.Let A and B be 2 matrices, then (A-B)>=A4>-24B+ B,

4.1f A and B are symmetric, then the transpose of AB is BA4.
5. A and -4 always have the same reduced echelon form.
6.If A and B are permutation matrices, then AB = BA.
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7. Let A:[(l) 1].Find 4

8.Let A and B be symmetric. Prove ABA is also symmetric.

9. Let‘,A=[; Z Z] Find the rank of A4.

(1 3 24

10. Let A={0 1 1 1|.Find the dimension of the row space of 4.
2 6 48
(9 12 - . . .

11. Let 4= 1 16].If B AB is a diagonal matrix, find B.

12. Prove: If A and B are positive definite, then A4+ B is also
positive definite.

3 0 31
13. Prove or disprove: [ ] is similar to [ }
0 4 0 4




